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MASTER OF COMMERCE (M. COM.)

Term-End Examination

June, 2022

MCO-05 : ACCOUNTING FOR MANAGERIAL

DECISIONS

Time : 3 Hours Maximum Marks : 100

Note : (i) Attempt any five questions.

(it) Each question carries equal marks.

1. Discuss the accounting conventions with

examples. 20

2. Describe briefly the different methods of costing
and state the particular industries to which

they can be applied. 10+10

P.T.O.
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3. Victor Ltd. disclosed the following particulars :

20
9%, 80000 preference shares of
T 10 each fully paid ¥ 8,00,000
50000 equity shares ¥ 10 each
fully paid ¥ 5,00,000
30000 equity shares of ¥ 10 each
T 8 paid up T 2,40,000
20000 equity shares ¥ 10 each
T 6 paid up ¥ 1,20,000

The directors proposed a dividend of 15% on

equity shares and resolved to make the

following appropriations :

(i) Transfer to General Reserve as per the
provisions of the Section 205

(1) Transfer to dividend

Equalisation Fund T 1,75,000
(111) Transfer to debenture

Redemption Fund % 1,00,000
(iv) Transfer to Investment

Allowance Reserve % 1,25,000

The net profit (before tax) for the year
amounted to ¥ 12,50,000. You are required to
prepare Profit and Loss Appropriation Account.
Provide for income tax @ 50% and corporate
dividend tax @ 12.5%.
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4. From the following particulars, compute

various leverage ratios : 20

Balance Sheet of Raja Ltd.

as on March 31, 2021

Liabilities 4

Equity Share Capital 40,000
8% Preference Share Capital 20,000
Reserve 10,000
Profit and Loss Account 5,000
10% Debentures 45,000
Trade Creditors 9,000
Outstanding Expenses 2,000
Provision for Taxation 3,000
Proposed Dividend 6,000

Total 1,40,000

P.T.O.
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Assets 4
Land 22,000
Building 24,000
Plant and Machinery 38,000
Furniture 5,000
Sundry Debtors 22,000
Stock 13,000
Cash 14,000
Prepaid Expenses 2,000

Total 1,40,000

What is Standard Costing ? Write a detailed
note explaining the advantages and limitations

of standard costing.

20

XY Company Ltd., a manufacturer of Product

P, uses standard cost system gives you the
following details for 1000 kgs of Product P :

. uantity | Price per | Cost

Ingredients Q (kg) y ke (g ®)

A 800 2.50 2,000

B 200 4.00 800

C 200 1.00 200
Input 1200
Output 1000
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Actual record indicate :

Consumption in January
A 157000 kgs @ T 2.40
B 38000 kgs @ 4.20

C 36000 kgs @ 1.10

Actual finished production for the month of

January 1s 200000 kgs. 4+4+4+4+4

Calculate :

@)
(i)
(iii)
(iv)
V)
@)

(i1)

Material Cost Variance

Material Price Variance

Material Mix Variance

Material Yield Variance

Material Usage Variance

Explain the application of marginal costing
in managerial decision-making. 10

What are the limitations of marginal

costing technique ? Explain. 10

P.T.O.
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8. The cost data of XYZ Litd. is as follows :

10+10
Product Product Product Total
X Y Z
Sales
80,000 1,00,000 20,000 2,00,000
(40:50:10) ®)
Variable
50,000 60,000 10,000 1,20,000
Costs )
Contribution
® 30,000 40,000 10,000 80,000
Fixed Cost (}) — — — 50,000
Profit ) — — — 30,000
Calculate :

(1) Break-even point

(1) Break-even point if sales mix ratio 1is
changed to 30 : 50 : 20.
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MCO-05
arfury ® TdeRaY SUTfe (UH. <hid. )
aIa qaen
S, 2022
THHL3M.-05 : Faerahia futal & fau e

gag : 3 HqU2 fYFHaT 3TF ¢ 100

T : (i) fp=l gier g9 & IW U

(i) % 9T & HF GHA Bl

1. <dihd SEURONSAl 1 IS0 9fed ==l

i) 20

2. o fauRor =t fafy= wgfaal &1 9ol sifsg

(aWa

Jem 3T SEN 1 Sooi@ hifew fSAH g

ST R S = 10+10

P.T.O.
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~

faaer fafiee 3 fr=fafas geaT wem =1

9%, 80000 YUTad YaifHehi 391

(FH 3 2 10) 2 8,00,000

50000 FHAT 331 (YUiRT) Tk

AW T 10 % 5,00,000
30000 THAT Y (R 3
3 10) 3 8 Tohell % 2,40,000
20000 HHAT Y (FAH A
3 10) % 6 Fehel % 1,20,000

el ¥ THAT 39 9 15% h1 AT G&dTfad

fra o Trefofaa fafEisH we &1 Hohey

foran .

() 205 % YEYH & JAJER GHF G9d
o gLl

(i) Y FHHA B H SHRT 2 1,75,000

(i) SEUTH MY He § T 2 1.00,000

(iv) fafwemr o 9= ¥ g0 2 1,25,000
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FX § U &1 FIaa 9 2 12,50,000 &1 STTIeHT

o

NI EIRCIERISEERCIGICEIE] %| SR L 50%

H W T TG HMURS AW HY 12.5% UIH

Hifa) 20
Ffafad geell § diads $TU[ Ad it :
20
31 Hret, 2021 &t UST fafes
&1 anfdeR Taear
CROILYy 3

SECIECRECE] 40,000
8% TalfueR T Isit 20,000
BER! 10,000
AH-BIM @l 5,000
10% 0TI 45,000
AR ATER 9,000
3TEd 4 2,000
F F foau gy 3,000
PSS IEGIGIEIN 6,000
Gl 1,40,000

P.T.O.
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gt 3

qfty 22,000
o 24,000
e Td HIid 38,000
LTy 5,000
fafay _R 22,000
ik 13,000
ThS 14,000
ECECiE| 2,000

e 1,40,000

5. O SN @i 1 ® ? Heh SN ok
% ol Td dell @ e ®d gL TH
foega e fafeul 20

6. XY &®FAl faffes s SAE P &1 fAfor &l
? Ud UM% WM YUTel k1 WA il R
TR IR P’ 1 1000 kgs AET a1 faawo
[ECIBSIGI] 2
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Ingredients Quantity | Price per | Cost
kg kge® |
A 800 2.50 2.000
B 200 4.00 800
C 200 1.00 200
Input 1200
Output 1000
ardfas Rt T & ©
SECEUR:ECE L)
A 157000 kgs @ X 2.40
B 38000 kgs @ 4.20
C 36000 kgs @ 1.10
SHad A w1 ardfaes AH SEH
200000 kgs ® : b A

WW:

() It T feer
(i) W goa famron
(iii) QrE T fa=mo
(iv) arEft Icafa =R
(v) AmEft 3TEnT fomro

P.T.O.
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7. (@) Yeverg folem o diwa @re oEied &

SYAN i =M@ HifSu| 10
(i) T NG ok Wfafy @ @ g
g ? =aren & 10

8. XYz fafqee i @vg 9 Hefyd 221 3H UK
2 10+10

3O 3dAR  3dR T
X Y Z

forshat
(40:50:10) ®)

80,000 1,00,000 20,000 2,00,000

50,000 60,000 10,000 1,20,000
AT )

3T ® 30,000 40,000 10,000 80,000

feR o @) — — — 50,000
a9 R) — — — 30,000
A IS
() wH-foess fag

(i) TA-fassg fag o fowml fagw &t
30:50:20 § wea fean Sran 2
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